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Note : This paper is of sixty (60) marks containing three 

(03) sections A, B and C. Learners are required to 

attempt the questions contained in these sections 

according to the detailed instructions given therein. 

uksV % ;g iz’u i= lkB ¼60½ vadksa dk gS tks rhu ¼03½ [k.Mksa 

^d*] ^[k* rFkk ^x* esa foHkkftr gSA f’k{kkfFkZ;ksa dks bu 

[k.Mksa esa fn, x, foLr`r funsZ’kksa ds vuqlkj gh iz’uksa ds 

mŸkj nsus gSaA 

Section–A / [k.M&d 

(Long Answer Type Questions) / ¼nh?kZ mŸkjh; iz’u½ 

Note : Section ‗A‘ contains four (04) long answer type 

questions of fifteen (15) marks each. Learners are 

required to answer two (02) questions only. 

uksV % [k.M ^d* esa pkj ¼04½ nh?kZ mŸkjh; iz’u fn;s x;s gSaA 

izR;sd iz’u ds fy, iUnzg ¼15½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy nks ¼02½ iz’uksa ds mŸkj nsus 

gSaA 
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1. Write the meaning of function. Explain the various 

types of function. 

Qyu dk vFkZ fyf[k,A Qyu ds fofHkUu izdkj crkb,A 

2. What is meant by primary data ? Explain the various 

methods of collecting primary data. 

izkFkfed leadksa ls D;k vfHkizk; gS \ izkFkfed leadksa dks 

ladfyr djus dh fofHkUu jhfr;ksa dks Li”V dhft,A 

3. Find out Arithmatic Mean and Median on the basis of 

the following data : 

Size Frequency 

11 

12 

13 

14 

15 

16 

17 

8 

13 

25 

37 

23 

15 

9 

fuEufyf[kr leadkas ds vk/kkj ij lekUrj ek/; o ekf/;dk 

Kkr dhft, % 

vkdkj vko`fŸk 

11 

12 

13 

14 

15 

16 

17 

8 

13 

25 

37 

23 

15 

9 
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4. A sample of 5 items was taken from the output of a 

firm. Lengths and weight of all items are as under : 

Length  

(metre) 

Weight  

(kg) 

3 

4 

5 

6 

7 

10 

9 

11 

14 

15 

16 

17 

Find out correlation coefficient between length and 

weight in the above sample. 

fdlh QeZ ds mRiknu esa ls 5 oLrqvksa dk ,d izfrn’kZ fy;k 

x;kA lHkh oLrqvksa dh yEckbZ rFkk Hkkj fuEu izdkj gSa % 

yEckbZ  

¼ehVj½ 

Hkkj 

¼fdxzk-½ 

3 

4 

5 

6 

7 

10 

9 

11 

14 

15 

16 

17 

mi;qZDr izfrn’kZ esa yEckbZ ,oa Hkkj ds e/; lglEcU/k xq.kkad 

Kkr dhft,A 
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Section–B / [k.M&[k 

(Short Answer Type Questions) / ¼y?kq mŸkjh; iz’u½ 

Note : Section ‗B‘ contains eight (08) short answer type 

questions of five (05) marks each. Learners are 

required to answer four (04) questions only.  

uksV % [k.M ^[k* esa vkB ¼08½ y?kq mŸkjh; iz’u fn;s x;s gaSA 

izR;sd iz’u ds fy, ik¡p ¼05½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy pkj ¼04½ iz’uksa ds mŸkj nsus 

gSaA  

1. Define the limit of a function. What do you mean by 

right hand limit and left hand limit ? 

fdlh Qyu dh lhek dks ifjHkkf”kr dhft,A Qyu dh nk;ha 

rFkk ck;ha lhekvksa ls vki D;k le>rs gSa \ 

2. What is Matrix ? Explain any two types of matrix with 

example. 

vkO;wg ls vki D;k le>rs gSa \ vkO;wg ds fdUgha nks izdkjksa 

dk mnkgj.k lfgr o.kZu dhft,A 

3. What is statistical averages ? What are the desirable 

properties for an ideal average ? 

lkaf[;dh; ek/; ls vki D;k le>rs gSa \ ,d vkn’kZ ek/; 

esa D;k&D;k vko’;d xq.k gksus pkfg, \ 
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4. Find the value of the following determinant : 

1 5 7

6 7 2

1 2 3

 

fuEufyf[kr lkjf.kd dk eku Kkr dhft, % 

1 5 7

6 7 2

1 2 3

  

5. Calculate Mode from the following data : 

Marks Frequency 

10—20 

20—30 

30—40 

40—50 

50—60 

60—70 

70—80 

80—90 

4 

16 

56 

97 

124 

137 

146 

150 

fuEufyf[kr vk¡dM+ksa ls cgqyd Kkr dhft, % 

izkIrkad vko`fŸk 

10—20 

20—30 

30—40 

40—50 

50—60 

60—70 

70—80 

80—90 

4 

16 

56 

97 

124 

137 

146 

150 
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6. Differentiate between correlation and regression 

analysis. 

lglEcU/k rFkk izrhixeu fo’ys”k.k eas vUrj Li”V dhft,A 

7. The following data are given from marks in Economics 

and Maths in a certain examination : 

 Economics Maths 

Mean 75 70 

Standard Deviation 6 8 

Coefficient of correlation between two subjects is  

+ 0.72. 

(i) Determine the two equations of regression. 

(ii) Predict the probable marks in Maths of a student 

whose marks in Economics is 65. 

fdlh ijh{kk esa vFkZ’kkL= o xf.kr esa izkIrkadksa ds lead bl 

izdkj gSa % 

 vFkZ’kkL= xf.kr 

ek/;  75 70 

izeki fopyu 6 8 

nksuksa fo”k;ksa dk lglEcU/k xq.kkad $ 0-72 gSA  

(i) nksuksa izrhixeu lehdj.k Kkr dhft,A 

(ii) ;fn fdlh Nk= ds vFkZ’kkL= esa 65 vad gSa] rks mlds 

xf.kr ds vadksa dk vuqeku dhft,A 

8. What is Census ? Explain the methods of census. 

tux.kuk fdls dgrs gSa \ tux.kuk dh fof/k;k¡ crkb;sA 
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Section–C / [k.M&x 

(Objective Type Questions) / ¼oLrqfu”B iz’u½ 

Note : Section ‗C‘ contains ten (10) objective type 

questions of one (01) mark each. All the questions 

of this section are compulsory. 

uksV % [k.M ^x* esa nl ¼10½ oLrqfu”B iz’u fn;s x;s gSaA izR;sd 

iz’u ds fy, ,d ¼1½ vad fu/kkZfjr gSA bl [k.M ds lHkh 

iz’u vfuok;Z gSaA 

1. The order of matrix is : 

10 8 5 2

5 0 2 1

6 0 1 0

 

(a) 3 × 5 

(b) 5 × 3 

(c) 1 × 15 

(d) None of the above 

vkO;wg dk Øe gS % 

10 8 5 2

5 0 2 1

6 0 1 0

  

¼v½ 3 × 5 

¼c½ 5 × 3 

¼l½ 1 × 15 

¼n½ mi;qZDr esa ls dksbZ ugha 
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2. Differentiation of 
4

1

x
 is : 

(a) 54 / x   

(b) 54 / x   

(c) 54 / x   

(d) 54 / x   

4

1

x
 dk vodyu gksxk % 

¼v½ 54 / x  

¼c½ 
54 / x  

¼l½ 
54 / x  

¼n½ 54 / x  

3. With increase in sample size, the sampling error : 

(a) Increases 

(b) Decreases 

(c) Remains stable  

izfrn’kZ ds c<+us ds lkFk] fun’kZu foHkze % 

¼v½ c<+saxs 

¼c½ ?kVsaxs 

¼l½ fLFkj jgsaxs 
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4. In constructing a three-dimensional diagram : 

(a) Only height is considered 

(b) Only width is considered 

(c) Height, width and thickness is considered 

(d) Both height and width are considered 

,d f=foek fp= cukrs le; % 

¼v½ dsoy Å¡pkbZ ij /;ku nsrs gSa 

¼c½ dsoy pkSM+kbZ ij /;ku nsrs gSa 

¼l½ Å¡pkbZ] pkSM+kbZ ,oa eksVkbZ ij /;ku nsrs gSa 

¼n½ Å¡pkbZ o pkSM+kbZ nksuksa ij /;ku nsrs gSa 

5. The value of Karl Pearson‘s correlation coefficient lies 

between the following limits : 

(a) – 1 to + 1 

(b) 0 to – 1 

(c) 0 to + 1 

(d) 0 to  2 

dkyZ fi;lZu ds lglEcU/k xq.kkad dk eku fuEufyf[kr 

lhekvksa ds e/; gksrk gS % 

¼v½ – 1 ls + 1 

¼c½ 0 ls – 1 

¼l½ 0 ls + 1 

¼n½ 0 ls  2 
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6. The geometric mean of two numbers 8 and 18 shall 

be : 

(a) 13 

(b) 12 

(c) 15 

(d) 11.09 

nks vadksa 8 vkSj 18 dk xq.kksŸkj ek/; gksxk % 

¼v½ 13 

¼c½ 12 

¼l½ 15 

¼n½ 11-09 

7. Measures of dispersion which is affected most by 

extreme observation is : 

(a) Range 

(b) Quartile deviation 

(c) Mean deviation 

(d) Standard deviation 

pje ewY;ksa ls lokZf/kd izHkkfor gksus okys vifdj.k dk 

eki % 

¼v½ foLrkj 

¼c½ prqFkZd fopyu 

¼l½ ek/; fopyu 

¼n½ izeki fopyu 
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8. The best average for the construction of index number 

is : 

(a) Mean 

(b) Median 

(c) Mode 

(d) Geometric mean 

lwpdkadksa dh jpuk ds fy;s loksZŸke ek/; gS % 

¼v½ ek/; 

¼c½ ekf/;dk 

¼l½ cgqyd  

¼n½ xq.kksŸkj ek/; 

9. The coefficient of standard deviation is equal to : 

(a) / X 100   

(b) / X   

(c) / M   

(d) / Z   

izeki fopyu xq.kkad cjkcj gksrk gS % 

¼v½ / X 100  

¼c½ / X  

¼l½ / M  

¼n½ / Z 
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10. Which of the following is correct in case of negative 

skewness ? 

(a) X M Z   

(b) X M Z   

(c) X M Z   

(d) None of the above 

_.kkRed fo”kerk dh fLFkfr esa fuEufyf[kr esa ls dkSu&lk 

lgh gS \ 

¼v½ X M Z 

¼c½ X M Z 

¼l½ X M Z 

¼n½ mi;qZDr esa ls dksbZ ugha 
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